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140-2 | FEYUFLV/ELLY |FIUFEIRS53-3 2,788 H T35 (R6)
141-1 FeYT=Ly T HFFEH292 2,225 H #HEh (R6)
141-2 FeYT=Ly L HFFEFH293 3,009 H #HEh (R6)
141-3 FeYT=Ly T HFFEFF294 630 H #HEh (R6)
141-4 FeYT=Ly L HFFEFH295 28 H #H4Eh (R6)
141-5 FeYT=Ly L HFFE%296 729 H #H e (R6)
142-1 FeYT=Ly INEFTH14-1 1,668 A REEHE(RT)

142-2 5EU =0y IMNEFFIR421 2,675 22} HEF (RT)




=i ER SHTESH12B KA
ORthEFRY =1\ - B L= LVER (BHHE)

BERS X5 RHDRTE EE (M) | HRME |ztsonmks @6
142-3 FEYT=LY IMBFFRiIR422 2,972 H #HEH (RT)
142-4 FEYT=LY IMBFFRIR423 2,962 H #HEH (RT)
142-5 FEYT=LY IMNBFFIR424 2,967 H e (R7)
142-6 FEYT=LY IMNBFFIR441 723 H e (R7)
142-7 FEYT=LY IMBFFiIR442 2,989 H e (R7)
142-8 FEY Tz EiEF KF497 632 H e (RT)
142-9 FEYT=LY EIEFKF498 2,906 H e (RT)
142-10 FEYT=LY EIEF K499 2,902 H e (RT)
142-11 FEYT=LY EIEFKE500 2,896 H e (RT)
143-1 FEYt=Ly KAFIL/N2 7,792 H T #HE (RT)
143-2 SEY =Ly KAFIL/A6-14 1,552 H T HHE (RT)
1441 SEY =Ly A HRF/EE140-1 935 H T HHE (RT)
144-2 SEYTf=Ly FAHRFILA149-1 1,808 H T HHE (RT)
144-3 FEYT=LY FEEIRF1L50149-2 79 H T HHE (RT)
145-1 | FEYT=LVELZLY [/NERFE/INZ69-99 646 pi THHERT)
145-2 | FEUFLVELIZLY [/MEBIRF/INZ69-104 662 b T #HE (RT)
145-3 | FEULV/ELTLY [/MERF/1NZ69-108 331 b T #4E (RT)
145-4 | FEUTLV/ELTZLY [/MERZF/1NZ69-109 331 b T #HE (RT)
145-5 | FEUFLVELTZLY [/MEIRF/NEZ69-110 331 b TF#HE (RT)
145-6 | FEULVELIZLY [/MEBRF/NAZ69-111 363 A T #4E (RT)
145-7 | FEUFLV/ELTZLY [/MERF/INZ269-112 288 A T #4E (RT)
145-8 | FEUTLVELTLY [/MERF/INFZ69-113 331 b T #4E (RT)




= Hh B SHTESA12B KA

ORMzZERY L) - B LE=VER(FHR LX)

BERS X5 EHOE EE (M) | HRME |ztsonmks @6
145-9 | FEUFLV/ELRZLY [/MEBIRF/INZ69-114 331 XA T#4E (RT)
145-10 | FEY=LVELIZLY [/MEBIRF/NZ69-115 331 XA T#4E (RT)
145-11 | FEYrzLV/ELZLY [/MBERF/N269-116 331 P F#E(RT)
145-12 | FEYLVELZLY [/MEBIRF/NZ69-119 664 XA T#4E (RT)
146-1 FEY =Ly = HF5 H1L726-392 274 pi REEHE(RT)
147-1 | FEUFLV/EL-LY | ARSFBIESI-1 97 H T #HE (RT)
147-2 | FEUFLVELTLY | ARSFEBIE0-1 92 H T #HE (RT)
147-3 | FEYUFLV/ELLY | ARSFEBIE90-2 101 H T #HE (RT)
148-1 FEY =Ly FFEFH255-1 228 pi REEHE(RY)
148-2 FEYTL FFBEF157 2,436 H e (RT)
149-1 FEYT=LY FFHE29-1 221 H T HHE (RT)
149-2 SEY =Ly FFHRE29-2 66 H T HHE (RT)
149-3 FEYT=LY FNFHE29-3 66 H T HHE (RT)
149-4 SEY =Ly IR E30-1 7.64 H T HHE (RT)
149-5 FEYT=LY FNFHES0-2 76 H T HHE (RT)
149-6 FeYT=Ly FNFREI2-1 649 H T #AE (RT)
149-7 FEYT=Ly FINFRES2-2 14 H T #4E (RT)
149-8 FeYT=Ly FNFEI2-14 8.09 H T #4E (RT)
149-9 FeYT=Ly TN E32-15 68 H T #4E (RT)
149-10 FeYT=Ly FFHES 862 H T #4E (RT)
150-1 FeYT=Ly £[RFFEZEI3 1,281 H T #4E (RT)
150-2 FEYT=Ly R FHEE34-1 699 H T #4E (RT)




=i ER SHTESA 128 B A

ORMzZERY L) - B LE=VER(FHR LX)

BIEES X5 EORTE mE (m) | Rt |zesonmws @He
150-3 FEYT=LY £RFHEEE34-2 1,065 H T #HE (RT)
150-4 FEYT=LY &R FHEZE46-1 3,539 H T #HE (RT)
150-5 FEYT=LY £RFHEZE3T7 1,767 H T #HE (RT)
150-6 FEYT=LY £[RFHEZE38 2,235 H T #HE (RT)
150-7 FEYT=LY £RFHEZE39 379 H T #HE (RT)
151-1 FEYT=L H1I8F TR 258-155 258 A REeEE(R7)
152-1 | FEYLV/ELLY |l FReRE6-1 1,213 H FE2EHE(RY)
152-2 | FEYFLV/ELELY |il)IFRaRR6-3 3,240 H FE2EHE(RY)
152-3 | FEYLV/ELELY |l RakE6-7 1,269 H REeEE(R7)
153-1 FEYTzL =RNFIRER396-1 1,504 pi REEHE(RY)




